Enduro-TurboClean
M25 Trolley
Parts Breakdown

Service Supported Distribution®

An International Aquatic Network

Number

ITEM CODE AND DESIGNATION

1

LH KA0176N002 Tube

LH KAO175N000 Tube - handle

LH KAO0178N000 Tube - wheel axle

LH KAO177N001 Tube - fork

LH KA0O180NOOO Power supply support

LH DDO030N001 Wheel

LH QX0016N000 Tube tip Dia 25mm

LH QY0004NOOO Cotter Pin

Ol | NN

O IN]ODN

LH VRO004NOOO Wheel spacer

LH KA0227N001 Remote support support

LH VT512 Screw M5L12 Torx

LH VEF5LUB Brake nut

10

O IN|DN

LH VH555 Screw M5 L55

11

—_
o

LH VEBS Blind nut

12

LH VH560 Screw M5 L60

13

LH VH550 Screw M5 L50

14

NINI|IDN

LH VEBAS5 Ecrou bas M5

www.enduroTurboClean.com * North American Distribution & Service Center * (800) 940-1557





